



**Vendor Ranking** 

Page 1 of 1

**Letting:** 02240117 January 17, 2024 11:00 AM **Call Order:** 002 **Contract:** E21L0-R0

District: District 2 Counties: ST JOHNS Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 44207457201 (\*)

Contract Desc: Tree Trimming and Removal

| Rani | k Vendor                     | Bid Type          | Bid Status      | Total Bid    | Percent Of<br>Low Bid |
|------|------------------------------|-------------------|-----------------|--------------|-----------------------|
| 1    | GRSC, INC.                   | Responsive        | Winning bid     | \$63,416.50  | 100.00%               |
| 2    | WD GARDNER LLC               | Responsive        | Non-Winning Bid | \$75,268.00  | 118.69%               |
| 3    | MIDWESTERN CONSTRUCTION, INC | Responsive        | Non-Winning Bid | \$203,960.50 | 321.62%               |
| 4    | QUALITY LAKE MANAGEMENT, INC | Non<br>Responsive | Non-Winning Bid | \$228,290.00 | 359.99%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 6

**Letting:** 02240117 January 17, 2024 **Call Order:** 002 **Contract:** E21L0-R0

District: District 2 Counties: ST JOHNS Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS Project(s): 44207457201 (\*)

Contract Descr: Tree Trimming and Removal

This is a Small Business Development Initiative and a Work Document Driven Contract consists of providing labor, materials, equipment, and incidentals to trim trees, remove trees, clear underbrush and power-shear on the State rights-of-way in St. Johns County, RENEWAL OPTION. BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at

https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/egualopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

| Line No / Item ID Alternat                     | e Quantity<br>Units | (1) GRS       | C, INC.    | (2) WD GARDNER LLC |            | (3) MIDWESTERN<br>CONSTRUCTION, INC |            |
|--|---------------------|---------------|------------|--------------------|------------|-------------------------------------|------------|
| ( ) indicates item is bid as Lump Sum          |                     | Unit Price    | Ext Amount | Unit Price         | Ext Amount | Unit Price                          | Ext Amount |
| SECTION: 0001                                  | (TREE TRIMMI        | NG AND REMOVA | AL (MH     |                    |            |                                     |            |
| 0005 E580332 20<br>TREE REMOVAL (LESS THAN 4") | 1.000<br>EA         | 115.00000     | 115.00     | 75.00000           | 75.00      | 250.00000                           | 250.00     |





## **Tabulation of Bids**

Page 2 of 6

| Letting        | <b>g</b> : 02240117 J                                | anuary 17, 20     | 24 <b>Cal</b> | l Order: 002 |             | Contract:  | E21L0-R0    |                       |
|----------------|--|-------------------|---------------|--------------|-------------|------------|-------------|-----------------------|
|                | No / Item ID Alternate Description                   | Quantity<br>Units | (1) GRS       | C, INC.      | (2) WD GAR  | DNER LLC   |             | /ESTERN<br>CTION, INC |
|                | dicates item is bid as Lump Sum                      | • · · · · · ·     | Unit Price    | Ext Amount   | Unit Price  | Ext Amount | Unit Price  | Ext Amount            |
|                | SECTION: 0001  | (TREE TRIMMII     | NG AND REMOVA | AL (MH       |             |            |             |                       |
| 0010<br>TREE R | E580332 21<br>REMOVAL (4" TO 12")                    | 123.000<br>EA     | 98.00000      | 12,054.00    | 200.00000   | 24,600.00  | 425.00000   | 52,275.00             |
| 0015<br>TREE R | E580332 22<br>REMOVAL (13" TO 24")                   | 50.000<br>EA      | 150.00000     | 7,500.00     | 450.00000   | 22,500.00  | 550.00000   | 27,500.00             |
| 0020<br>TREE R | E580332 23<br>REMOVAL (25" TO 36")                   | 40.000<br>EA      | 290.00000     | 11,600.00    | 1.00000     | 40.00      | 700.00000   | 28,000.00             |
| 0025<br>TREE R | E580332 24<br>REMOVAL (37" TO 48")                   | 50.000<br>EA      | 300.00000     | 15,000.00    | 1.00000     | 50.00      | 850.00000   | 42,500.00             |
| 0030<br>TREE R | E580332 25<br>REMOVAL (> 48")                        | 7.000<br>EA       | 600.00000     | 4,200.00     | 1.00000     | 7.00       | 1,500.00000 | 10,500.00             |
| 0035<br>TREE T | E580332 97<br>RIMMING                                | 45.000<br>EA      | 80.00000      | 3,600.00     | 200.00000   | 9,000.00   | 150.00000   | 6,750.00              |
| 0040<br>TREE A | E580332 99<br>ND BRUSH REMOVAL                       | 1.000<br>AC       | 450.00000     | 450.00       | 1,000.00000 | 1,000.00   | 6,500.00000 | 6,500.00              |
| 0045<br>STUMP  | E580334 3<br>GRINDING (> 48")                        | 4.000<br>EA       | 350.00000     | 1,400.00     | 1.00000     | 4.00       | 550.00000   | 2,200.00              |
|                | E580336 12<br>R SHEARING >0' TO 15' WIDT<br>' HEIGHT | 9,990.000<br>H LF | 0.25000       | 2,497.50     | 0.80000     | 7,992.00   | 1.45000     | 14,485.50             |



01/25/2024

## **Tabulation of Bids**

Page 3 of 6

| Letting:                  | 02240117                       | January 17, 20        | 24 <b>Ca</b> l | II Order: 002 |            | Contract:   | E21L0-R0   |                        |
|---------------------------|--------------------------------|-----------------------|----------------|---------------|------------|-------------|------------|------------------------|
| Line No / Ite             |                                | ate Quantity<br>Units | (1) GRS        | C, INC.       | (2) WD GAR | DNER LLC    |            | WESTERN<br>JCTION, INC |
| () indicates ite          | em is bid as Lump Sui          | m                     | Unit Price     | Ext Amount    | Unit Price | Ext Amount  | Unit Price | Ext Amount             |
| SECT                      | TON: 0001                      | (TREE TRIMMI          | NG AND REMOVA  | AL (MH        |            |             |            |                        |
| 0055 E5803<br>PRUNING AND | 36 14<br>TRIMMING (PALM        | 200.000<br>IS) EA     | 25.00000       | 5,000.00      | 50.00000   | 10,000.00   | 65.00000   | 13,000.00              |
| 0001 TRE                  | E TRIMMING AND<br>REMOVAL (MH) |                       |                | \$63,416.50   |            | \$75,268.00 |            | \$203,960.50           |
|                           | Contract                       | Grand Totals:         |                | \$63,416.50   |            | \$75,268.00 |            | 203,960.50             |





## **Tabulation of Bids**

Page 4 of 6

| Letting:             | 02240117                      | <sup>7</sup> January 17, 20 | 24 <b>Ca</b>         | II Order: 002 |            | Contract:  | E21L0-R0   |            |
|----------------------|-------------------------------|-----------------------------|----------------------|---------------|------------|------------|------------|------------|
| Line No              |                               | ernate Quantity<br>Units    | (4) QUALI<br>MANAGEN |               |            |            |            |            |
| () indicate          | es item is bid as Lum         |                             | Unit Price           | Ext Amount    | Unit Price | Ext Amount | Unit Price | Ext Amount |
| S                    | ECTION: 0001                  | (TREE TRIMMI                | NG AND REMOVA        | AL (MH        |            |            |            |            |
|                      | 80332 20<br>OVAL (LESS THAN   | 1.000<br>I 4") EA           | 60.00000             | 60.00         |            |            |            |            |
|                      | 80332 21<br>OVAL (4" TO 12")  | 123.000<br>EA               | 75.00000             | 9,225.00      |            |            |            |            |
|                      | 80332 22<br>OVAL (13" TO 24") | 50.000<br>EA                | 75.00000             | 3,750.00      |            |            |            |            |
|                      | 80332 23<br>OVAL (25" TO 36") | 40.000<br>EA                | 250.00000            | 10,000.00     |            |            |            |            |
|                      | 80332 24<br>OVAL (37" TO 48") | 50.000<br>EA                | 250.00000            | 12,500.00     |            |            |            |            |
|                      | 80332 25<br>OVAL (> 48")      | 7.000<br>EA                 | 275.00000            | 1,925.00      |            |            |            |            |
| 0035 E5<br>TREE TRIM | 80332 97<br>MING              | 45.000<br>EA                | 200.00000            | 9,000.00      |            |            |            |            |
|                      | 80332 99<br>BRUSH REMOVAL     | 1.000<br>_ AC               | 400.00000            | 400.00        |            |            |            |            |
|                      | 80334 3<br>INDING (> 48")     | 4.000<br>EA                 | 400.00000            | 1,600.00      |            |            |            |            |





## **Tabulation of Bids**

Page 5 of 6

| Letting                  | ) <b>:</b> 02240117                             | January 17, 20       | 24 <b>Ca</b>                        | II Order: 002 |            | Contract:  | E21L0-R0   |            |
|--------------------------|---|----------------------|-------------------------------------|---------------|------------|------------|------------|------------|
|                          |   | te Quantity<br>Units | (4) QUALITY LAKE<br>MANAGEMENT, INC |               |            |            |            |            |
|                          | icates item is bid as Lump Sum                  | ,                    | Unit Price                          | Ext Amount    | Unit Price | Ext Amount | Unit Price | Ext Amount |
|                          | SECTION: 0001                                   | (TREE TRIMMI         | NG AND REMOVA                       | AL (MH        |            |            |            |            |
| 0050<br>POWER<br>AND 20' | E580336 12<br>SHEARING >0' TO 15' WIE<br>HEIGHT | 9,990.000<br>DTH LF  | 17.00000                            | 169,830.00    |            |            |            |            |
| 0055<br>PRUNIN           | E580336 14<br>G AND TRIMMING (PALMS             | 200.000<br>S) EA     | 50.00000                            | 10,000.00     |            |            |            |            |
| 000                      | 01 TREE TRIMMING AND :<br>REMOVAL (MH)          | Section Totals:      |                                     | \$228,290.00  |            | l          |            |            |
|                          | Contract (                                      | Frand Totals:        |                                     | \$228,290.00  |            |            |            |            |
|                          | Contract Grand Totals:                          |                      |                                     | \$226,290.00  |            |            |            |            |



01/25/2024

#### **Tabulation of Bids**

Page 6 of 6

**Letting:** 02240117

January 17, 2024

Call Order: 002

Contract:

E21L0-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.